B

min =90, 0 max = 548, 656

L =90, R =40 Width =588

T =344, B =0, vAdv = 1000
Parts m=3,1=7,¢c=8, total =18
Paths. 3

Hints: 6 horiz: 3, vert: 3

(90, 656) 1(285, 656)

(173, 590)

(274, 590)

(428, 485) (510, 496)

(173, 37) | @70.37D)

P1

(173, 313)

(287, 313)

(466, 195) (548, 192)

P2

PO

©0.0 (299, 0)



C

min =52, -12 max = 539, 668

L =52, R =32 Width =571

T =332, B =-12, vAdv = 1000
Parts m=1,1=2,¢c=8, total =11
Paths, 1

Hints: 3 horiz: 2, vert: 1

(523, 587)
(344, 595)

(478, 533)

(52, 328) (138, 330)

(493, 135)

(341, 61) (539, 83)

(338, -12)



a

min =52, -12 max = 433, 498

L =52, R =71 Width = 504

T =502, B =-12, vAdv = 1000
Partss m=2,1=6,c=10, total =18
Paths, 2

Hints: 5horiz: 3, vert: 2

(264, 498)

(73, 435)

(105, 378)

(52, 126)

(433, 0)



b

min =82, -12 max =507, 712

L =82, R =46 Width =553

T =288, B =-12, vAdv = 1000
Partss m=2,1=8,¢c=8, total =18
Paths, 2

Hints. 6 horiz: 4, vert: 2

(82, 712) (164, 712)

(314, 498)

[ (164, 518)

(164, 363)

(507, 251)

(82, 0) (148, 0)

(297, -12)



C

min =46, -12 max = 431, 498

L =46, R =25 Width = 456

T =502, B =-12, vAdv = 1000
Parts m=1,1=2,¢c=8,total =11
Paths, 1

Hints: 3 horiz: 2, vert: 1

(280, 498)

+

(422, 441)

(380, 387)

(46, 242)

(395, 105)

(431, 50)

(274, -12)



max = 468, 518

Width = 470

0, vAdv = 1000

| =10, c=2, total =14

(188, 518) (282, 518)

(156, 208).2, 208)

(135,146) (332, 146)

@0 (87, 0) (380, 0) (468, 0)



